
3− 2− 1− 0 1 2 3

η

0.95

1

1.05

R
at

io 0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

<
pi

xe
l h

its
>

mean # PXL hits vs eta

3− 2− 1− 0 1 2 3

η

0.95

1

1.05

R
at

io 0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

<
pi

xe
l l

ay
er

s>

mean # PXL Layers with measurement vs eta

3− 2− 1− 0 1 2 3

η

0.95

1

1.05

R
at

io 0

2

4

6

8

10

12

14

16

<
st

rip
 h

its
>

mean # STRIP hits vs eta

3− 2− 1− 0 1 2 3

η

0.95

1

1.05

R
at

io 0

2

4

6

8

10

<
st

rip
 la

ye
rs

>

mean # STRIP Layers with measurement vs etamean # STRIP Layers with measurement vs eta
DQM_DisplacedSUSY__mkFit_BDT_

DQM_DisplacedSUSY__mkFit_


	Contents
	Page 1


